Baum

import java.applet.*;

import java.awt.*;

public class  baum  extends   Applet 

{
int[] dx = { 0, -1, -1,-1, 0, 1, 1,  1}; 


int[] dy = {-1, -1,  0,  1, 1, 1, 0,-1}; 

public void paint (Graphics g) 

    
{ 
setBackground(Color.white);  


     
zeichne(g, 0, 100, 250, 350); 


} 

public void zeichne(Graphics g, int n, int laenge, int x, int y)

{
int xn = x + laenge * dx[n]; 

   

int yn = y + laenge * dy[n]; 



g.setColor(Color.darkGray); 



g.drawLine(x, y, xn, yn);     

      

 laenge = (int) (laenge * 70e-2 ); 


    
if (laenge>2)


       
{
zeichne(g, (n+1) % 8, laenge, xn, yn);



         
zeichne(g, (n+7) % 8, laenge, xn, yn); 

 



       
}    
else 

{  
g.setColor(Color.green.darker( )); 



    

g.fillOval(xn, yn, 5, 5); 





g.setColor(Color.darkGray);     


    

}

}  

}

